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.' 101 A small metal ball is suspended in a umform electric field with the help of an insulated

thread. If high energy X-ray beam falls on 1t

w/ the ball will be deflected in the d1rect1on of field
(B) the ball will be deflected cpposite to direction-of field
(C)  the ball will not deﬂect

(D)  the ball will fly to inﬁnity

@@ eﬂ;ﬁ]u.l 2 CooraL ugagrrarg uSlataL_,sgrr gneﬂw 5L_L_uu|_® Egnem uﬂam_qmpﬂm Qgrrrus
eflou L@Gﬂmg aﬂs <g,;p;ot;o Qe X-sgir 2 Carsi u ‘mﬁm Lﬁg umyt Gung)

A)  upg qa),sﬁw Sengeown Gmn&&l cﬁlw@m
- ® umgl HesHer ,-ﬂaws@ @i gﬂw&uﬂw eﬁlm@,m
© Ups emGurgid sﬁlw&ngl

D)  ups Prar HTEEHS UDEGD

102. Oile Fermi‘ is equal to

wr)’ 107 m

(B)‘ 10‘“s
© 10%m ' -
O 10% cm
| G Quind erénuigy —————————@E 0.
@A) 107 8.

®  107° QsS.
(C) - 10728
®) 1072 Qs.ib. -

B o I” T - JGSTN7
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103. An example of natural polymer

(A) Nylon

® ﬁayon' "
& Cellulose

(D) - Orlon

@wﬁ)wsur@r unmellwir CarosHnHE a@@éan;Q
(A epener

B  Cpunen

(o) om@;éwm

D) Qbr'ram&

104. The most abundant element in the earth’s crust is
(&) Silicon
2" Oxygen
(C) Magnesium

(D) Aluminium

WS sifsons Gamaah gaflow
- (&) adsmen

(B W&é{

(©) Qusatue

(D) i@ lleflwid

*
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105. The number of mitochondria increases in the cells of

(A)

dormant seeds

W germinating seeds

©)

D)

dry seeds -

dead seeds

el GLrsram’_Mwn aearaisns @i Gsasalid mfswres sraminbio

A

B

©
D)

QuaTeuL &8 eflengser
poaEELD eilangset
2 OpS Hengsen

Db cilengae

106. What is the net gain of ATP molecules in the glycolysis step of anaerobic respiration?”

A)

1 ATP inolecule

| V@( 2 ATP molecules

©

)

3 ATP molecules

4 ATP molecules

srpleen: &m'r_rélﬁ,saﬂdf. Havarsneiien uiq.:ﬁls'\) Par enuwrs agpeen o .q.19. @.a)eisa'ngu&dT

S sflanpen?

@  goTs9. -@@é&w-.

® @10 o9 painpsi
(O apey q.lq..lﬂl..@wé;mg‘sér

)

BN o.ig..9. @é&a@sﬁr; :
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107.  Piperazine citrate is used to treat infection caused by
(A) Protozoans o M Worms _
(C) Bacteria . (D) Dog bite

&Cyp UYL GdrareupBie THS G,srrgp;ﬂar urdliepu a;L@uu@,sglmgsmsrr& a)uur,raﬂm eﬂl._(?r,rl_ |

uu.:mu@,sﬁuu@&lar;pg?
(A) Gy CLIGsraméser | B) wygéser
(C) unée fwm | D) pmi sy

. »

108. Among the following factors, which combination is affect the origin and movement of ocean

-

- currents : : ) L ®
L Coriolis force
II. Earthquake and volcanic eruption
III. Atmospheric pressure and insalution
IV. Salinity fmd density of water
(A) I IlandIII
B) II 1 and IV . .
LIl and IV |

\p( I, 11l and IV

- Bpsngpud smyeflseficd, s ﬁcwn_l_m 2 MRUTUSHBW DKL m&rrpg; Ommpm@m STFRTIONS

eerer snyexflseficn Agraiemu sem_fls.

I Qsrfiurdfiey clens |

II. pPeppasd m;bgjtb afene Qaugliy |
L asfiosin_e ez wigpib @fu sBitss

IV. eudub m;bmmﬁlﬂétalm@ o

@A) LIwpgolll

(B) II, III wpgud IV

© 1, IT vppod IV

D) L III wpgpd IV -
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_ | 109'. Accorc.ling't_o Ko'ppen’s climatic classification, the Bshw climatg iﬁ .In'dia. is .found.
(A) Along t:.he éorarﬂandal coast |
@) : Jodhpuir district of Raj#sthan |
| © Konkan and I\I\I.éiébar:coast‘ :
W Ram _shadqw zone of Tamil Nadu
.(Bssrrduaﬂén araflene ménsgm;lq.élu:q. @;bﬁ@rreﬁiéo Bshw $trm;ﬂam). sTeTILHD @i
" (A) Csmywereé 'qsg;iiasa)q |
®) | @qngdﬁgmﬂdr Ggrﬁ’.g,r’r mnmL@ o
(C)  Qsrmiser wHPID OUTT SLHE®T

D) OB iger wenpepayss 1yCHD

110. : The Indus ﬁwr originates from the
(A) Glacier near ﬁhe Mansarovar hke ,
(B) | Pir-Panjal in the Greater Himalayﬁa
\,(C( Bt-)khar Chu glacier in Mount Kaiiash

| (D) A spring at Verinag at Kashmir
._ g 5 UpsEd GLb
(A) © wrensCrmeur gilulen a@ﬁgdrm ueflwrgy
B) | Gulﬂt_u @_mu.:,’sﬁ&b mdfar tSm_lrr@aa)
(C) - &S LoehudgiaTer Gurr&srrr'r@uaﬂmnm B
D) 5rrd§,$sﬂgudrar Qeufi mn& mr;b;ﬂd)

i B Y ' R R -~ JGSTNT
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111. Art-14 of the Indian Constitution is associated with the doctrine of |

(A) Jud.icial Activism

t : 4

B) Judxmal Re\new

W Rule of Law

(D) Rule of Dharma

- @bSw srdlueeniiy s L sHer 98 14 AsrLiyenLwg
A4 E@mdﬁp apemeniiy |
(B) ﬁﬁuqmqnum
© sipfarayd

D) ghogfer gyt 8

112. The final authority to decide whether a bill is a Money Bill or not is with

Prime Mlmster

\{ Speaker

(C) President

(D) Vice - President

@ wEsTSTAUTRIE LT mG&u,srr SODG! @wsm;u eTay q,pq@eu@sgm @y,ﬁumm aﬁsmjwp
Gu;omeurr

Ay Argw wpH

“(B) SUTBILIST

(G) G LTS SenaaeurT

D) gewew - Gywirs geoaurt
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113. Delimitation of constituences is the responsibility of
@ Plx_'esident
(B) Planning Commission

% Election Commission -

(D) National Development Council

QsnEduliear Lyeempuey Qeiyn Qumgliy p_cimrrg;
‘ A) @l@,ﬁm& seneveurr
® Siiew

© Ggﬁgé) <4,EDERTLILD

D) Czéw euemiadls Gpiow

'114. Who said that “Financial emergency provisions were serious threat to the financial
' autonomy of the states”? ' ' ‘ '

(C) KT. Shah

(D) B.R. Ambedkar
. B8few o S GrsLamd wrfleo srfd B o seHErEBhe SETEsons Gis aar
| saPweuit wmi?. ' | | ’ : o

@A) HN. géwm

B) HV EIY:3

© KT agr

(D_) B.R. ibCLs |

B o s | | JGSTNT
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115. Ashok Mehta Committee on Panchayat Raj Institution recommended for

(A) Three — tier system

W Two — tier system

(C) One - tier system

(D)  Nyaya Panchayat

'u@amgg oeg f e Brer SGens CiossT & URpgoTHss
&) @a@. - BIRES @,p}mmm

'(B)- Qe ® - SIBES DD

(C) - 89656 @wmwin |

D) pumu ugrsrugs |

116. ~ Which Article of the Indian Constitution has given Président of India to dissolve house of
people?

“(A)  Article 56

B ® Aricesl
A Article 85 -
(D) Article 92

mé;.&ara)ma)w sos@w Sfsmd Qpdw gemdufse by wflueebiy ofifuldn &g;
SiohEEILCLg? | '
A) s 09fey - 56
- (B) El._L_l-..JIE]Iﬂa{ -61
© EI;Ltilglﬂm -85

D) & bl - 92
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117.

118.

Match the following : .

(@) NSSO _ 1. 7 day recall methodology
(b) Decline in poverty to 26% 2. 55t round
(¢} Decline in poverty to 23.3% - 3. 30 day recall methodology
(d) Economic survey 4. . 2000-01 - '
@ ® © @
A 4 3 2 1
B) 1 4 . 8 2
(Cy 1 .2 3 - 4
S 2 3 1 4
Qunsss : ‘ . A
(8) erem.eTe.aTEV.GR : L 7 prén Hlevanay saffey apenp
(b) epenw Ty G@HSITeTE-26% 2.  5beug smHm
(©)  aumpemio eTay @a)gmbgjmargj-23 3% - 3. 30 prér Hlenemray anitay stng)
(d) Gun@emrgrm %umgﬁlma ' 4. 2000 01 . -
() ®  © @
A) 4 - 3 2 1
® 1 4 3 2.
): 1 2 3 4 -
(D) 2 3 1 4
Which of the following is correctly matched?
(A)  According to 2011 census of India . —  Sikkim.
- most populous stateis ' :
- (B) _ According to 2011 census of India ‘ , - UP
least populous state is , , . : o
“The Motto of the 2011 census'is . V - Our census Our future
According to 2011 census hl.ghest pmportlon - = Chennai

(D)

of Urban populatlon is in

&Qmwmg]m \Bss sflwns Qu n@gguug@mmgl Grg;? |

(A)

(B)

©

®)

. 2011 wésdr Agrens s@TEQSE UL LG : - . 8&&D
- ofls wasaT Agrens e erer wmBla

- 2011 wésear Agrans saTs&LEBUL UG - - o;ggm_fl |5]|JG§6Lb_ \

" Geapaures ésT Ggrens o emar oMl

2011 wiser Agrens sanE@sGLea QUIETGLME -  [piogl s Ggreos asmras@s@uq
. ' o ' _ BIogl Grﬁrra;rrwm :

2011 wésdr Agnens samé@s®HUGien Lig. -  Qsénener -

286 é&6T QBTans o GTeT FEIW '

85 . - JGSTN7
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119. Match the following :

(a) Red Revolution . 1. Meat/Tomato
" (b) Pink Revolution 2. Eggs

(¢) Golden Revolution 3. Shrimp

(d) Silver Revolution | 4.  Fruits/ Apple

(a) (b) © @

A 1 2 3 4
® 4. 3 2 1
\',(Q( 1 3 4 2
O 2 3 | 1 4
Gur;@g’;gjsz
(@ fsoyumd Y @@m p—
b)) @egrfaiy yoid 2. e
(é) 'mmqm‘_é]. .. 3.' @mucb..
) @  Qeurafis 4red 4 u,pma:/q,meﬁ

(a) ® - © @ ..

A 1 2 3 4
® 4 3 2 ]
'(C) 1 3 4 '2A

™ 2 - 3 1 4

JGST/17 _ ' - 86



120. Total outlay for the 11t Five Year Plan period is-

A

®)

Rs. 14,88,147 crore

Rs. 21,566,571 crore

| w/ Rs. 36,44,718 crore

11-gb gpgrar(d S steosdHsd Qurss Gméﬁ@

(A)
®)
©
D)

Rs. 78,846,782 crore

Rs. 14,88,147 crore .
Rs. 21,56,571 crore
Rs. 36,44,718 crore.

Rs. 78,846,782 crore

121. Expand FERA and FEMA.

M Foreign Exchange Regulation Act

B)
©
)

Foreign Exchange Reserve Act

Foreign Exchange Management Act

Foreign Exchange Minimum Act

 AifleyiBéss FERA wppb FEMA.

A)
®)
©
13)

S P Qreraie aniLGssb oS

pfiu Georaef @sdimuy «f |

@Bl Qeeoreenfl Cowramann s

él,t'b;ﬂu.: Qearaiah gopbsu s o

37
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122. Find the missing number

3,7,9, 13, 15, 19, ——, 25, ...
@ 23 -

B) 15

o

D 17

QUL aeliné)m SRy, :
3,7,9,13, 15,19, — 25, ...... |
@A) 23

® 15
© 21

® 17

L4

123. Thanya is older than Eric. Daya is older than‘Thanya. Eric is older than Daya. If first two
statements are true third statement is - '

Y
W False

(C) Unpertain

(D) Certain

gemur, arflé-g el Qulwer, swr, ,sétmrfe;)m oL Quitueudn, erfié, swrene AL Quilweud.
pps @ spgser s erefid ég,ps‘&r;orrm’gl SHp eliLg L Lg? |
@) o |
® sep
C) @yaraig SioO®
®  paanerg
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124

- The circumference of a circular park is 264 m. Find the area of the pérk

Va( . 5544 sq.m

(B) 5444 sq.m

(C) 5554'sq.m

D) 5534sqm

125.

el L augeuly Blémlreﬁldr shmerey 264 18. yhisreller LFliLeTey STaNs

(&) 5544518
B) 5444518
©) 5554515
(D) 5534 J..LB

The Area of a rectangular field is 836 8q.m. One 31de of the rectangle is 22 m. What i is the
penmeter of the field? ' '

0] Oasucus aigel ;ﬁla);s,ﬁar uuuuarm 836 3 L8 Q&mms suqsu ;ﬂa)gﬁat RO LES Seay 228 Gl'GbﬂG) .

<165 Bosden sHparenal Smaors.

@ 1008
® 1208
© 3808 o S o
) wos o |

39 - - JGSTNT
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126. X can do a piece of work in 18 days and Y can do it 24 days. How much Y get if thé'y_ finish
the work and earn Rs. 42,000 ' ‘ '

(A)

" Rs. 24,000

\9/ Rs. 18,000

. (O
)

Rs. 20,000

Rs. 22,000

X g¢m Camomu 18 prisaigib, Y seg 24 priseligid Qeiig apgluir. Bad Gmpgl

DeuCaumeaws Qg . 42,000 FrLig e, Y &@ S é@h bgrens ereusueney?

@)
(B)
©
i)

. 24,000
¢5. 18,000
@. 20,000

. 22,000

127. 20 women can do a work in 16 days. 16 men can do the same work in 15 days what is the

ratio between the capacity of the men and the women?

@

20 Queirser 16 priselid g Cumamu apylui G Cauenaenws 16 Spemaer 15 prlsafic

Wu L arefld geradr, Quansafien CaumasBpar clfgn wrg?

@A)

- ®

©

D)

JGST/17
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128.

129,

331% of 50% of 300 is

7

@) 100
(© 150
(D) 300

300 & 50% & 334 % ercuasaray

@A) 50
® 100

© 150
®) 300

| The cost of four Tamil books and 3 English Dictionar& books is T 750. The cost of a English
- Dictionary is 2 times of the cost of a Tamil book. What is the total cost of a Tamil book and a

English Dictionary ' , , .
@A) T 200 |

\ers 225

S ©C = 250

D) 275

preng s LSsELE YD 3 Ryide srHuder (English Dictionary) Qurgg eflae T 750.
S g ude a&u&ﬁuﬁ]ér dAeaurag g S0P UssssHa daamu Curd B wLhiE aalld g
SO LHIID @R Lphidiar asq&@u&e‘n Qurgs cflene eresmen?

" (A) 7200

B 225

© T 2_5b

D) ¢ 2’75'

41  JGSTNT
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130. A sum of money rises four times itself at 15% per annum over a certain time. Find the

number of years

' (A) 10 years

15 years
\{9/ 20 years
D) 25 years

@ DAL sFwTes) 15% iy eSgsdler Grggs_a)an g amHaaiics Freng wL_msTEG0D? .
@) 10 %m@;@ |
B) 15 yeam(dser
© 20 @

(b)' | 25 yanpadr

131. In a village of 300 persons, 180 persons take tea. Find how many take coffee but not tea,' if
each persbn takes atleast one of the drinks. ' .

@A) 90
(B) 100
© 110

\p( 120

g Srmosde edrer 300 pui‘r&aﬂd) 180 Guir Gl impFIuTTadT. Gepelld o drer GeuQeunm
[BLICBLD @ma&'ﬁrfmtq.w GSODHSULFID @ala)mu.mwg SIGpHaNTEd efld, smA SiwBS Gﬁﬁﬂ'
al@;bptr,sa.nmar Grggmaru Gui?

A 90
®) 100
O 110

O 120

JGSTNT - 42 B B



132. If (x+1) and 2(x+1) (xz—_tt) are GCD and LCM of two polynomials and. if .one of the

polynomial is (x +1)(x-2) then the order polynomial is

@A)
®

(C)

x% -4

(x+ i)(x +2)

T x+2

W 9x” + 6% +4

(x+1)m;b@s.‘o 2x+1) (x* -4) fuapep weopGu 18.Qumeu -m;bguh.g.&@umub eand QameirL

| @gaﬁ@ LID@IILLE CaTeneus(@heT eremm (x +1)(x - 2) crafléd a.ogb@;bn@ Cararas aT5?

(A)
- (B)
©)

D)

133. The G.C.D. of 36,156 is 12.VFind their LIC.M. .

xt-4

'@+n@+@

x+2

2;:2 +6x+4

e~ 468

® 512

(©) 312
@) 432

36, 156 eramp Qm greisraserﬂdﬁ B.Qurea 12 araflé seupdler 5Py Qurgl oL RiG STETS.

&)

®)
©)
)

468

512 -

312

432

1

438
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134. “Adi Grantha” was a collection of songs and teachings of
(A) - Mirabai
(B) Tulsidar

71 GuruNanak

(D) Chaitanya

%8 HTHHD eTeNLIG — &1 GUITgenersen LoHHID um_é)aséﬁs'm S damGLy
(A) Lﬁr;rrrurruh ' |
(B) glenflgne

(©)  Goprad

D) @egrafilurr

135. The Regulation No XVII, issued by Wmam Bentinck is associated with
"~ (A)  Suppression of female infanticide
(B) Suppression 'of Human -sacrifices
@77 Abolition of Sati

(D) Suppression of Thugi

elodllud Quenrgrr Qeuefud L PQUGYID oo eran 17 SpsstamuappeT asIL G

Gg;rn_r'rqml_u.@?

| (A). Quew Q&mwg g@ﬂl;g
®)  weflp uam@,sém 80559
© sfaPoy

D) gmﬂ L EGPDD
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136. Who was the first Chairman of ISRO’?

(A)

Homi Baba -

\,@ﬂ Vikram Sarabai

©.

)

Abdul kalam |

Kasturi Rangan

‘GG’ eltem (y)g@ SENEGUIT WP

A
(B)
©

(D)

Ganmdl urum
eN&yth FmymLMmL
SILIGIDSLD

sevgnfi ghisern -

137. . Who was the founder of the Paper “Kesari"?

A\ Bal Gangadhara Tilak

(B)
©
D)

Bipin Chandra Pal
‘Mottlal Nehru

Madan Mohan Malavia ‘

“Qasf’— crénp Qerflgrenen Hipeflwieuit wni?

(A)

(B)

©

D)

ure sEETST St

996 spSyune

Congfeome Gm@

wgen Gudmaes wirerellwsm

45
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138. Match List I and List II and select your answers using the codes given below :

List I | - ' ~ ListII _
| (a) Fa;cher of Revolutionary thought 1. B Bala Gangadara Tilak
(b) Punjab Kesari S | 2 C.R. Das
(c) Father of Indian Unrest | 3. Bipin Chandra Pr;l ‘
(d) Desabandhu 4. Lalalajpat Rai

@ ® © @

Ay 2 1 3 4

® 1 3 2 4
W s 4 1 2

D) 3 2 1 4

S L aienarr T wppid S ot -war GuIL( - 5Cp Qsrpasiul Gamape shurer
| oL e GarbAsdés. ' |

uLLtq.uJé)I ' | : L aguie I

(@) un fasrsmigsseien shens B 1. ureskstgy @w'asr’r. |

®)  ugsem Amisd 2. Ag Breiv

(c). Qﬁﬁm ammﬁuﬂeﬁéjmuﬁlﬁrﬂbwg | 3 lﬁllﬁlét&;bQUUrrsi)

d) Cgesupg , 4. orereguE rmi

® (b) © @

@A 2 1 3 4

@By 1 3 2 4

© 3 " 1 2 |
®). 3 2 1. 4
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I139.I . Whé is the leader of Swadeshi Moveménf it; 'i‘amﬂNa'_du?
M V.K. Ramanujachari | |
| (B) Gurunafha Iyer -
(©) Tirupur Kumaran

(D) V.0. Chidambaram Pillai

'.§US] Q‘[ﬁnLLq;d) &Cg8 @mmg@& SOWUGTE @@‘r_‘ag)surfr Wi ?
Q)  A\Gs. yrorg@isy cg;,éémﬂ
B)  GoBSBUT
©  Boiyt e

('D) a2 flgburd Wenenar

140. Who i‘oﬁnde’d the “Servantg of indian Sdéiety”? oo
| W Gopala Kriéhna Gokha,lg |
®) Bala Gangadhara Tilak =
(©) Mahatma Gandhi |

(D) Iswar Chandra Vidyasagar
“Qidw saps (B&a!&r'ra;.én’ ' %résr;n @epLLiany THUGSHwe W
(A) Gasrrl_’ura‘) megenr CarsGe |
B  uresusrsy Hest
(C) WETSOT #rqf,ﬁ
(D)_ FrGOGUIT &j:f)é;J' e:{ﬂ{s@ww&tra;fr- -

B B . 47 S JGSTNT
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| 141. ‘Shaurya Smarak’ the war memorial in memory of Martyrs is situated in the state of
(A) Gujarat

Uttarpradesh

\M Madhya Pradesh

(D) West Bengal

Clgmr’ru.urr swomyé (Shaurya Smarak) erérp Gunit ofipg Hundadr Paerays Henand Sewpgarer

LDﬂ’;ﬂIGDL'D
@) g
®) o sAnACsad

(€) wsHu WCgebd

(D) Cun @ sukisremd

142.. ‘World’s largest and deepest Rail ’I‘unnél, opened in June 20186, is present in

(A) France
Germany

\ﬁ/Swmzerland

(D} China

20166 Spdsinii n;a)eﬂén Ba Beroren whod q,pmrr@r Tl spRsLLTNS 2 drar ;ﬁrr@
(A) YGipnens |

(B) Qggr'rmaﬁ

©€) sl srampg

D) Eer
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143.

. M Juan Manuel Santos - : N .

144.

D) ugrs @uToT

The Nobel prize for peace in 2016 has been awarded to

(B) Bob Dyon
(C)  Fidel Castro

(D) Barack Obama -

siewdasrar 20 16 gyld qu.,rp&rrar G‘l_ﬁlrua)uﬁl& @ajgas@ QJLQI‘&I&LIULL@

A) gvsnan u:rr@JGaJm apngsm
(B)  umen.wen

(O dire asrevi_Gyr

The original name of 2016 Salﬁtya Acadeiny winner, Vannadasan of Nellai district is
(A) - Sivanthiathitheyan
(B) . Sivanesan '

(Q) . Siva Gnanasubramaniam

\_,CD)"" Siva Kalyanasundaram.

2016 gy %emq.m&n‘ar &mﬁgtu @srLl Bms Quby Apdewmus sTiHS mawrmglraaﬂm

| @mm@uu.m

@ feph aBiCpud

®) AauCpsar

{C) 'ﬂm@{rar_mlﬁlgmmﬂmdr L

) ﬂw&é).u;mam. FHSTLD

49 | " JGST/N7
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145 Match :

Player - - - Game
(a) Cheteshwar Pujara 1 Tennis
(b) Sanam Krishan Singh 2." Cricket
(¢) Velavan Senthilkumar 3. . Football
(d) Nallappan Mchanraj 4 Squash
L@ b © @
u{ 2 | S 3
1 2 4 3
© 2 1 3 4
D 3 2 1 4
Qunmsgs :
eflenemwim_ B el | flenemumr_®

(a) Celgeveurygmyr 1. Qierafiav
b) sod ORosan . 2. SNEGEL
(© Coeueweust Q&ﬁ@d}@mnfr 3. &nduBg
(d) md)wu‘uér CGorsemmgg 4. v@Geauray

@ O © @

4) 2 1 4 3
®) 1 2 4 3
© 2 1 3 4
® 3 2 1 4

146. ~ Which country won the Asmn Men’s Hockey Cham;nons Trophy 2016?

e India

(B) Pakistan
(C) Malaysia
(D) Bangladesh

2, BT E(@HEETEN B gnrr&ﬂ G&mlﬂwemo Camiau—2016 Gaidnp pu@ og?

4 @Qedun

B urdsvgmenr
(C) wGadlwur
M) unsamGgey
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" 147. Who lost to P.V. Sindhu in the 'ﬁna_ls of the China Open Badmintoh Super Series 2016

 tournament? : '
W S_ﬁn Yu : _ ' B) TzuYing |
(C) Saina Nawal : : - @ Carolina Marin

2016@ ferm U APGLILHS @i aufles Qo L FHd P.V. fibg efLtb Caraeflwen_jss!

wIm?
@ sty o B) s wis
(C) smienn paumed | ' . D) s(ﬁuﬁéﬂmn wofler

148. The _éonvention on biological diversity was held from 4t —17h Decembef 2016 at
wﬁ" Caﬂéqn, Mexico - B o | '(B) ' Davos, Switzerland
(©) Nagoya, Japan (@) New Delhi, India
| . q.mbuff 4 g 17 mmrf 2016 D 2T ,lnl_ggﬂuf_t_ “e uSfiu uiémmmm wrpr@” perQUHp
oo A S
(A srrsin'@dn, Om&é&@an_ | ®B) er('sé.nrrdu, sellairanpbg) L

- ©)  pGamum, guuren D) ug g, @bHur -

149. The dembnetizétion of the 'curfenciea of Rs. 500 an& Rs. 1,000 in India ‘came.a into eﬁ'eqt on
(A) - November 6, 2016 - (B) November 7, 2016
\J&"~ November 8, 2016 (D) November 9, 2016
@;i@u.meﬁ]é)_ 500 mﬂ)g;LbIIOOO epuImi @pr{ﬁ@&d{ Liemr w iy ﬁissﬁ BeOLpeDES eu;_r;; e
&) peubLir6,2016 o . ® poubiit7, 2016
©  panbui8 2016 @ pewuis, 2016

B | | 51 - - JesTNT
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150. In Newton’s rings experiment, -if the diameter of 10t ring changes from 1.40 to 1.27 cm
" when a drop of liquid is introduced between -the lens and glass plate, what will be the

refractive index of the liquid?

\)\( 1.215

1.315
(© 1.330
(D) 1415

ﬁg;um auesmumsar Cargeamanie, dldbamasgn, sararmgd ;asc'.qm@m @@m_ctu @@ Cer’ @
Hraugeng aasgd Gurg, 10aug umanugden el Lwmeng 1.40 Qs.5.W@mbg 1.27 Qa.5. s

wrgorene, AgHreusen gafl chlasd eraw erénan?

a4 1215
® 1315
© 1.330
®) 1415

151. In LCR circuit, the capaciténoé is changed from C to 4C. To obtain the same resonant
frequency, the inductance value has to be changed to which of the following I values.

A) 2L

® L
Vg
® 4L

LCR spfie BeanGaafuden sieraes Culelimhg 4C Siameling wrppriuGn Gung Sesad Gupih
opp sifiredl He LgHE Wengramg e darencu L & Qmpm Spsarn_ aps aqmd:’lm@ wrHo

Casam@ib?
A 2L
® L
© L
® 4L
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152.. Which of the following statement is not correct about a good fertilizer?

153.

(A)
B)

©)

The fertilizer ;_s,hou_ld not make the soil acidic |

It should not be harmful to the growth of plants. o

It should be cheap

\/GB( It should be insoluble in water

2 JRsaeTL Gurrgxég auenpulier Epaumeufler arg) seuprang:?

A)

(B)

©

D)

A

2 JRIGET ameid DS ST 2 (HEUTESES SaliTG)
Qag seflen cuermid gamepoenwl SHEHE LG
@®he dewveild surfissin CadrBo

Bifle senrmuids s

One among the following is monoatomic

Oxygen

| v@( Helium

(©

@)

Fluorine

Nitrogen

Spésam_auppidt gan @rEps seflo

(A)

B) .
©

®)

2 sElge
QlﬁaﬂuJLb
e
N LTHRE

63
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154. Which one of the following plént groups is best example for symbiosis? - T

(A) Algae
(B) . Fungi S,
(C) -Bryophyte

-G aumpsms” aungptd muﬂﬁ‘%ﬁm@ ADj5 TBEHESTG THS T QUena?
@)  urdsér : ' S
[

©  Seru nepLL_Haar

(D) oassaraar

155. Which diet among the followmg is essentxal for bowel movemen’t and st1mulat10n of la.rge
intestine? ' ’ )

(A) protein rich diet ~ .

(B) fat rich diet

& fibre rich diet

(D) water rich diet

: .GGIﬂM s QurmetadT paT AUIEGLO ym@m,sp@ &p&sn@m emsg QINS 2 eRTey Lﬂsa.un
Bieufwib?

@ urs ohp feopps e ama
B) Qsmuy s Heapps o ey
©) pmié ssg Baopbs e earey

D) fpis opp Beops o ey

JGST/7 s | o



' 1.56._ Who intfoduoet_i the t;oncebt of hot spot in bioﬂiversity? '
(A) ‘Chlristopher quumbué |

_ \’B( Ndrman Myers
© WWF

(D) | Charles Darwin

0 i LdbesEad kAL Gk Car LT g e P PSULGELIT LTE?
A) ARG QaraibLed o | -
B  privwd Couites
© eospuhhosd

(D) sriaed Lmielién

1567. Which oi;e of the given'iaofmone is secreted by the neu'rohypéphyses? o
S Vmpi-easin , -
" (® Prolactin_
- (©)  Calcitonin

(D) Aldosterone

' & psaam_ pm'rcmlrésaﬂq'). 7 ﬂgcwmgpcun.'.a)uﬁaﬂé) uu&sﬂﬁ@aﬂs’mmg? -

(A airCsmayefdr
B CmCwsgr

(O snodi Curafian |
D) SiGCLrrevCyren

B . | 8 . - JGSTNT
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F

158.- Which of the following soil is developed under the tropical monsoon climate?

\y( Laterite soil

®

©
®)

Regur soil |
Red soil

Alluvial soil

Epsremid e cuenssailed aThg Loahm Biuewr WL @ ue srafleraouiie) e mardag?

A
B
(©
(D)

Gal e, wer
sz werr
@aLbLoeeT

GUERTL_G) LDGRT

159. In which Prevention and Control of Pollution Act, the noise is defined as Air Pollutant? -

\J" Pollution Act 1981 Section 2(a)

B) Pdllution Act 1986 Section Z(a}
- {C) Pollution Act 2000 Section 3(b}
(@ Pollution Act 2001 Section 3(b)
app wrE S_HUUNH  HpD 5@5,59) sl sflenug  Qeysed, .ésrr;j)y mn&u@ﬁgmrrm;rs
mq)uu_lgfssllluLLg? 4 | R
(A) s st 1981 lsnﬂ},q 2(a)
(B) wrseslLb 1986 Gfey 2(a) , | '
(C)  oms &b 2000 Sfley 3(b) - |
D) wrsslwb 2001 GAey 3(b)
56 B
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| 160. Mat}ch the List I crop with List II of major produber and select the correct answer using thé

codes given below :

| List I o List 1T
{(a) Rubber 1. Gujarath
(b). Soyabeans » 2. Uttar Pradesh
(¢) Groundnut 3. Madhya Pradesh
(d) Wheat 4. Kerala |

@ . © @

@ 4 1 3 2
® 1 2 3 .
Uéf'4 3 1 2
‘o 3 2 4 1

o Lo I-flé o drar vilitsemer oL amanr II-féd s@asda sifswors o pusd Aeiuyb

' orflets@g e Qurmsss
St auaenr T - o Leuenarr II ’
(@ @rouf 1 egms
) GerumSard 2. esHnGnGesi
© PHoss_eow 3. wzHwrGgsw
@ CGargew . 4. Gagam

e O @
) |

4 1 3 2
® 1 2 3 4
© 4 3 1 2
- 3 2 4 1
B . 57 - JGSTNT
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161. The main objective of the Directive Principles of State Po].icy is to

(A)
B)

' W Giving direction to the Legislatures and Executives in Policy Making

D)

Establish the Civil Society

Establish the Economic Dictatorship

Giving Direction to Prime Minister

278 Aphla Qerdrensufen apsdu GErésmang

@)
®)
©
®

B\3.0D FAPESNS amm§§d>
QungneTngny Feurdlanyseag ammﬁgﬁ_@
gl _wanpib wHpb Qeudgieannés Qarams e meunsasdling Grhlamer smsed

Aygomée Apdapempamar sGHD

162. “The problem before us is to have democracy we have it politically ... and we need to expand

it in the economic field also” — Who said it?

(4)

B.R. Ambedkar

W Jawaharlal Nehru

©
D)

Mahatma Gandhi
Karl Marx

“asam_ferw Sien_eaGg BID @,oé%r o aver ﬁ&é&manurr@tb. Sirflueenedled acéug Qupg el GLmb.

BTD NG Guﬁ@mrrprru fPwurseyb efifleuen wé Qeiiw CouanrHid” crénp 2.@rggaT wni?

@
(®B)
©

®)

JGST/NT

‘B.R. aubCugsrt

gaugniened Cram |
IDETHON STHE

ST OIS
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163. By which amendment, the tenth schedule was added in the Indian Constitution? =

A) 42
- B) 44
© 22

\p)’ 52

. cr;bglsf_u_;-@@:sg;g@dr. Q:,oa)d; l(i—mg; &LL@@W @‘Isﬁm ag&lu)a;mmulﬂd: G&ﬁ&s&ﬂu&gg?
@  12ap o phoso - |
B) 44;mg| 6|;_L.§QQ§§§Lb
© 22-aig sl GBBEED

D) 52-eug s L S5HmESD

164. Pointout the wrong statement in the follo'wing :
W There is court fee in Lok Adalat
®) Thefe is ﬁo'sfrict épplicatidn of procedural iawé in Lok Adalat
(C) Diaputes can'be brought b'efore thg Lok Adalat directly |
(D) The decision of.the.Lok.A,dal.at is binding on the pari:ieénflthe dispute
&pmemL swbHssafid gb:gnnc;sta)g; s s &rfaiuTlﬂé.a;@ th.
A)  Gons sipragho e si_Lemd eﬁl@éﬁﬂu@&) |
B) Cané sgrasH Qawé@aﬁm m'_l_rézasaﬂsﬁ a;a’wq.ﬁu e Gesmﬁéw& élqn...u.:rrg |
© - Ga)lré agﬂwﬁ apérenmed Gpriguins &%msmm QanadT(R iU -
- (D) ssspaEEiu mp&eﬂw eLbﬁ;bguugLumr'rs;dT Bz Gans .algrra),’sﬁér- wipa] sLGUURSSE
| SRWSTHD | = '

B o : 59 - - ~ JGST/7
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165. Which amendment to the Indian Constitution created a legislative assembly for Delhi?

61t Amendment

\M 69t Amendment

)

T2nd Amendment

78th Amendment

Bpfu srflwemwlnGen Grmarwnmg Hmesd AL deSlufe) &L IoeTD S i@@_n@ug? |

@

®)

©

D)

61-aug dmssd

69-aug s

72-ai Boppd

T8-cu Him>

166. Which year the Legislative Council was abolished in Témilnadu?

A4

®

e

D

1982 ' : : ' .

1984

1986

1988

g mLD spasHer 5L Goomaeni faflemmigar?

@)

®

) © .
®)

JGST/17

1982
1984
1986

1988

60



167. Match'the following and select the correct answer :

()
()
©
(d)

(A

TRAI
SEBI
SEZ

NTPC

@ b (c)

4 1 3

\M 1 2

©

(D)

' ﬂdtés@mm@;bmma Quﬁ@gﬁ sfhwuner cleLew Gira) Qsis :

@

- (b)
©
GV

@A)
®
- ©

D)

4 . 3 2

3 4 - 2

g mis

as9

TEVFFL

créimq.lﬂéj

@ ® ©
A4 1 3
4 1 2
4 3. 2
3 4 2

L

2.

1.

g

o

s

Stock market

Export promotion =

. Electricity

Telecom

U@ sHeng
gppogd e-wie)

\Blememy

. QgreaQsriy

@

61
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168. Sustainable development does not include
{A) Improvement in health status
(B) Improvement in environmental quality

- V( Non-utilisation of natural resources

) Reduction in emissions and waste

Peoowrer s Gefl i arerug eraipid ashe ALIGEELIDSTSE DHEGD
(A) sarzTy fleveudle G@&un@se’n |
(B) asbpé@pe gr Cwwur@ser

© Quiws mmm’:sgmr DT LweTLIT®

D) wrswpb sfley GepLiy

. 169. Tick the incorrect answer :
The population policy of 2000
(A) Concentrates on reproductive health

- (B) Adopts a decentralised approach

"(C) Provides incentive to follow two child norm
\ﬁ( Emphasizes male participation
QereumLd sapbler geupnes sapenm st i STl Layb.
AbHw wiser Qgnens Aanarens (2000)
A) @eniQumss seTgTISME PFNEGD
B)  uraerEsLLLL SIEIGeD ﬂdru;b;oau(mb'
© @ran® Gpios Afwap enpp eubss Aprms Selie
D) e uiGapeu ﬁé@éﬁég@tﬁ

JGSTNT 2



170. A geometric series consists of four terms and has a positive common ratio. The sum of the

171

first two terms s 12 and the sum of the last two terms is 108. So Find the series

(A) 2+6+18+54

'\% 3+9+27+81

(C) 4+16+64+256

D) 5+7+37+71

. Qurrg gD Wens erairears @(HEGD g_)@ Glu@a;@,,s Q,sm_lﬂa) g_r,rrssr(g 2. HUILI&ET 2 cTaTen. @,ogcu :
Bren® P.QlUL]aEGIﬁGM m@gm 12 mg)gw DISE a;am_é] @l}e&r@ e miysefien sm@sed 108 el

S156sT_c0 175 SIS

C(A) 2+6+18+54
®) 3+9+27+81

(C) 4+16+64+ 256
D) 5+ 7-37+71

‘What is the product of ‘7 gnd  10% terms of the gsequence defined by

(n (n+5), if peN and n is even
Gn = -.;‘?.n , if ne Nand n is odd
n“+1 S ‘
o 14
@ = - ® =

50 N 42

- | Ty
e 2y

2n
n?+1

a. =

n(n + 5), neN wpgop =» @rfl'_an_uus_m_ rem eTgyd Gumgl
- "'EN oHQID n gj)mmae&ra@mcung

eTea UGS L. Ggm__:reuﬂmsufﬂar 7 ~QUg| DHIHILD 10—9@ a_gnuq&aﬂeﬂ Qu@&s,muwar cTehen?

14 | 14

® % P e

© 42 . o D) T
.63 o JGST/17
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172. The ratios of the respective heights and the respective radii of two cylinders are 1:2 and 2:1

respectively. Then their respective volumes arejin.the ratio

A 4:1
B 1:4
\M2:1

® 1:2

P o_qpmarasaﬂm LthJma;aﬂar eﬂﬁgw 1:2 wppb a;m;n;ﬁla‘r prisaiian eflfigb, 2:1 crelﬂa).

leupilein sear ararma;aﬂm Sl

A 4:1
B) 1:4 i
© 2:1

O 1:2 |

173.  Volume of a right circular cone is 1782 cm®. Its height is 21 cm. Find. the radius of the corie

(A) 6cm
B) Tcm
(© 8em

w{ 9cm

#® Pemo Gpia Lé sblen sar serey 1782 £.05.8 wpps oiser ewmd 21 A58 erafid

aia;&mﬂm cg,ggsmp& SRS
(A) 6Qs.8
B)  7Qs.8 )
(C) 8Qs.8
(D) 9Gs&

 JGSTNT S . : B



174, The émg'lés of a tlfiangle are in the ratio 3:4:5, ﬁnd the angles
(A) 60° 60° 60°
(B) 40°, 60°, 80°

S 1506075

(D) ~ 45°, 45°, 90°

g@ W&CanangHle Caremmiadr 3:4:5 erenp cllflgsde o dranen, 2ips Caranmbismar sreama
A) 60°, 60°, 60° -

® 40, 60°, 80°

(C)  45°% 60°, 75°

‘(D)  45°, 45°, 90°

176. IfA:B=7:8,B:C=24:9Find‘A:B:'C?'
- (A) 12:20:8
'\;95/2‘1:24':-9
)y 21:12:9

D) 7:8:9

A:B=.7:_8,B:C_=24:9 sréﬂé:A:B:C-gs?r@iu‘rs

A) 12:20:8 °

B _21,:24:9'

© 21 :-‘12 ;9

‘® 7:8:9

B - | 65 S JGSTNT
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176. There are 2235 students in a school. Among them 1275 students are in group A and
215 students are in group B. Remai_nin'g'students are in groups C. What is the percentage of
students in group C? ' ' '

A  33%
® 301%
© 30%

\ff 331%

2235 wrarrauigeT edtar Latefuild 1275 wramraiser A Gfaligib, 215 wreraitad B 9faigib S8 |
wresrauiser C IRefigid Gmadpriasdr aafid 19fie) C é o arer wramauisaien speisb aenar?

A)  33%
B) 30i%
© 30%

O 381%

177 Abirami bought a suitcase for ¥ 2730 which including 5% of VAT (Value added Tax). What
was the price of the suitcase before VAT was added?

(A) T 2700
B) T 2530
(©) T 2630

\,(-nf 2 2600

ongmA ) LwewTl) eoUew o 2730 QenBsy wrmi@lprar. sdudiamauic 5% s &L (B _. |
" iy (VAT) oLt @ulmé8ps. whins s ® afienw Gorasmod Luamieuden sllee adrten?

A ».2700
®) - @ 2530
© @ 2630
D) = m. 2600
JGST/17 - . 66 o B



178.

179.

The sum of two rational numbers % and i— is x times the difference between two numbers

% and % what is the value of x ? .

@ 9 - ® 8-
© € T\

1 WwHmLD i—dﬁ smpsorans, % OHHID -;1; n el Hwinasflen oLt eralled X -en wHlmUSE STeRTS.

3
@ 9 S ® 8

© 6 | ® 7

q th CT rd

‘Kumar"s mohnthly salary is Rs. 54,.000.' He spends % _ of his salary as rent,‘% as

th o , : ‘ .
education, -i- as transport and the remaining as his savings. The amount saved by him as

(A Rs. 12,000

(B) Rs. 12,500
Rs. 13,000

ua)’ Rs. 13,500 |

@i adrucfidan wrg sibuemd @. 54,000. Sifé % UNSID UM MESEGD, % ursh SoellEgEL,

-}I ursld CurégarsHPpGEL Gmeﬁ Qeh@pri. Bfow Calse masdprt aafiid Calsgb Qprms

A) . 12,000
®B) @._12.500
© . 13,000
@ @ 13500

67 ' o _ JGST/NT
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180. What is the median of the data 526, 265, 726, 672, 625, 248, 482, 252, 276, 267, 284, 2567

(4)

284

\ﬁf 280

©
O)

282

278

| 526, 265, 726, 672, 625, 248, 482, 252, 276, 267, 284, 256 erép Leral ellaursBer GeoL Haow

DIETE GTEITEN?

A)
®)
©
™

284

280

. 282

278

181. Mean of 89 obéervations is found to be 32. At the time of computation two items were
wrpngly taken as 29 and 37 instead of 38 and 28. Find the correct mean.

A

28

©
)

36

40

89 cransafien sgns 32 crand sre@riulLg. sansSOWL CprsHéd 38 whHgb 28 erénp @@ eflaugriser

29 wppd 37 crang suygns TOSHeTay QFMu aupsg. eraiCa sflurer syrefeaws saT(H D 55,

A).

B)
(O

()
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182. Range of first twenty positive integers is

A4 20
(B) 18 -
TP 19

™ 21

W @mug s wpy eransafien oSos erg?

@ 20
® 18

© 1

O 21

183. Who was the chief commander of British army m the Battle of. Bﬁxar-, 17647
(A) Mr. Ellis | | |
(B)  Holwell
qeﬂ Major Munro

(D) Warren Hastings

1764 Lisaorit GUTAc ByhBeD LemLIG6r Saaemn SIS Lmi?
(A)  ardvellen

(B). GCapra@eud - |

(C) - Guogi _ms&icml;»»

(D)  cunpen Ganevsi

B ' e - JGST/17
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- 184. The term Sulka refers to
(A) Monopoly tax

(B)  Transaction tax

: W Customs duty

- (D) Export dﬁty

SOST e
A4) gsCurs el

- (B) utﬂaln'r{sgwaﬂ auffl
C) s éuﬁl

D) apgwd e

185. Name the European who followed “Blue water policy” in India
(A)  Albuquerque
(B) Dupleix

(© Robert Clive

\.ﬂﬂ De Almeida

@pHwraliey “ﬁm&a;a.@ Qsrarens” Gaer sG55 RCrmwfier Quueny @;ﬂﬁlﬂ@&
@ sdysis |

®  qwiGe

(© Qoo emareu .

D) a{é)GLDI.!'..IL_IT
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186. “_Indiﬁh_ iaoverfy and Un-British Rule in Iﬁdia“ was wntten by

(A) R.C.Dutt | |
®) M.G. Ra_na'lde_.‘

y Dada'b.hai. NaorOji .

 ® G.V.Joshi

“@#@wl NQ@LDUA o, @;ﬁﬁwﬂéﬂ@ QpepLIDHD %@w éw—é\um eTénD Erene erpSuieurr
@ - R.C. 55 . | o

' @) MG rﬂr;ar(Bl_'
(C) VV§II'§ITI_IITU'.J me@un@

D)y GV. ngaﬂ
187. Who was the first Viceroy of the British India?

®) Lord Elgin
(é) Lord Cufzpn.
(@ Lord Rippon -
O 1 ey @5@@;_@&@; 5 audlymi wrir?
(A) srefin Gy
®) Gré@ér@uu
: (Cj asr'rsdf!tﬁluu.
o .ﬂ.jush.mm
B ” T o - S .iGsTfl-:
' ' S ' - - - [Turn over



188. The Indian Independence League in Japan was founded by
_ - (A)  Sachin Sanyal |
o \M Rashbehari Bose
(©) '_ Har Dayal

(D) Ganésh Savarkar

gguumﬂé ‘@b sspdy shisD’ e Senwliey Ppeflueii
kA) - géflem @u.md)

B) rev@asrfiCureu

(C)  apigwne

(D) &Cemrey squniréar

.189. Who was the political Guru of Subhash'(.lhandra Bose"
(A) Bala Gangadara Tilak
(B) Sarat Chandra Bose

V(Z/ Chittaranjan Das

() Mahatma Gandhi

sunay sy Curedien Sirdwe @ wmi?
(A)  ure sksrgy Hest

(B) 15 epdy Gued

© ﬂ#ﬁu@m B

D) wergwrarhH
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190. Who won the Nobel prize in Medicine in the year 20167

(A)  Juan Manuel Santos

\SB?/ Yoshinori Ohsumi

(C) Bob_ Dylan | '
(D) Bernard Feringa |
2016& m@ggmggésnm Crrue uflens Qeuemmeut wimi?
(A) Bo6 e reniaIe) FrerGL men
B wrserf) gas
(©)  umi a)f_a)r;siﬂ

- -

(D) .Qur'ren'rrrr'n'_ QuAiist

191. Jandhan Plan is to provide
(A)  Toilet facility to all
'(B) Drinking water to all L .
\-‘_e( B:_ink' Account to all - - .
D) | Housing facility to all | '
mensen :ﬂ!;_.L_lb Qspsrs Asrem® curtiur g '
A) élmw;n.l@é@sém as@ﬁuq)gp cuss)
(B) armmm([r,é;(g,tb @'4{5& cusd)
©)  swaumssDd autidl seanég
@) amm@gé@m IR ausd
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192. Yash Bharathi Award 2016 was presentéd to

Maseeruddin Shah

- (B) Abhiskeh Bachchan
(C) Randeep Guleria

@) Virat Kohli

2016&amen wey LN P TuMHES uPREILLL 5?
@) phopen car

B) 29Ceys LG

(C) gremels saemflumr

D) eflgm Camedl

193. E:_more Port is named after
(A) Arignar Anna

(B) M.G. Ramachandran

sraiur@l.fr QIGDSDW@@ wrgenw QUi GUiouc Gererg?
@) - ofiei e |

(B ao.g GomosspHer
(C) smopnar

D) Quilwri
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194. How many times India lifted the standard style version of Kabadi World cup till 2616?

A 5
C®. 1
s

@) 2

ageer eonsdr @bAwr Heewrar unamfl ams sug 2es Gamieuew 2016 eﬁamy

Qeuehyarens?
| o s |

® 7

© 3

® 2

195. Who won the ATP world tour finals 2016 m Tennis? |
. @ Novak Diokavie |
\@" Andy Murray
(©) Rafel Nadal
@) Waw'rinka
2016 gy A_enafleh 2 w8 sppCLLIETEHed QA0 Cur iy uild QaupBluiment wri?
@A épsneurr& Cgrlsails | |
l(B) yeg. QonGy
VV(C) ' uGuo) LD |
D) arafsr

B . - 175 JGST/17
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196. Who was elected as the new president of international hockey federation in 2016?
\~ Narinder Batra | " (B) Aditi Ashok
(C)  Nikki Haley (D) Radhika Menon

2016-a sieuGas annsdl s Lanwornfer yHw geaeunns CaipAsHéarILT e wimi?
A  mABsTusyT . B) =HsH =Cens
(©)  Hsf Caned , (D)  gedam Cuoaner

197. In which country did the plane carrying a Brazilian soccer team crash recently?

(A) Argentina (B) Braazil

\'(ﬂf Colombia S (D) Venezuela -
sbugfler GCrAfien g sraubsm L el Lumiss efwrend aﬁ]ugwg; EhSlssHT0 eﬁlmsramn eTh®
BTCig.6 6fl(phss?

(A @iQgemgen B 9CHe

(C) Qsrawnlbwr V D) GCasafigan

198. Who won the bronze medal in wrestling in Rio 2016? :
N~ Sakshi Malik " (B Dipa Karmakar
(C) AnnuRani (M) Jitu Rai

RGwm-2016 & webu.;ﬁsﬁﬁc}u Qeuairsa ) LgssLDL Geuempeurt wimr?
(A)  ayréed wredls ’ (B) Sursiorsasi .
©) gy yrexfl : D) By

- 199. Whlch country’s premdent made an eight- day visit to India from 14th November 2016?

(A) England (B) Russia
W Israel (D) Australia
Gpunaline peusir 14, 2016 WPsH @ Brer Lwewntd CopGsre Gurunss gooar apg
BILeO_§ STHSeut?
A Grufarhg ' . B) geaqur
() @Cre D)  evHCrewr
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200. Match the following :

(a) Highest Civilian Award 1. '_ Arjuna
(b) National Sports Award | 2.  Param Vir chakra
(c): Wartime Gallahtary Award _ . 3. Kalpana Chawla

(d) Courage and daring Enterprise Award 4. Bharat Ratna

(@ . O ©

A) 4 2 1 3

Wil 2 3
© 1 4 3 . 9
™ 4 3 2 1

- Aeneumeuereupenp sllwins Quimméss :

@ 1852wy HedlaSusen flmg 1 gﬁg?asrn
() Gslw eflewerun’ @ almg . | 2. umb ST s&gT
(¢ Gunié sre Cawengfl elmg - 3. s@uen smeLQT

(D) esflwb (efnib) HHD Hiaullssgumosarer g 4. umys et

@ b © @

@A) 4 2 1 3

® 4 1 2 3
© 1 . 4 3 2
® 4 3 2 1.
B | | | | 7 - JGSTNT
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Read the following instructions carefully before you begin to answer the questions.

10.
11.
12.
13.

IMPORTANT INSTRUCTIONS

~ The applicant will be supplied with Question Booklet 10 minutes before commencement of the

examination.

This Question Booklet contains 200 guestions. Prior to attempting to answer the candldates are
requested to check whether all the questions are there in seriés and ensure there are no blank pages in
the question booklet. In case any defect in the Question Paper is noticed it shall be reported to
the Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Questmn Booklet after the commencement of examination it
will not be replaced. :
Answer all questions. All questions carry equal marks. _
You must write your Register Number in the space provided on the top right side of thls page. Do not
write anything else on the Question Booklet.
An answer sheet will be supplied to you, separately by the Room Inv1g11ator to mark the answers.
You wxll also encode your Register Number, Subject Code, Question Booklet 8l. No. etc. with Blue or .
in the space provided on the side 2 of the Answer Sheet. If you do not encode
properly or fail to encode the above information, action will be taken as per commission’s notification.
Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for -

L] 1.

- each question. Your total marks will depend on the number of correct responses matrked by you in the

Answer Sheet.
In the Answer Sheet there are four circles ), ®, © and (D) against each qu_estion. To answer the

. questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for

each question. Select one response for each question in the Question Booklet and mark in the Answer :
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If .~
for any item, (B) is the correct answer, you have to mark as follows : :

@000

You should not remove or tear oﬁ' any sheet from this Quesnon Booklet. You are not allowed to take

_ thls Queetlon Booklet and the Answet Sheet out of the Exammatmn Hall durmg the examination.

The sheet before the laet page of the Questlon Booklet can be used for Rough Work.
For Question No. 101 to 200 in all matters and in cases of doubt, the English Version is final.
Do not tick-mark or mark the answers in the Question Booklet.

Failure to comply with any of the above instructions will render you liable to such action or penalty as
- the Commission may decide at thelr discretion.




